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30. Forall x and y such that xy # 0, let

| X (=% —K%
f(x,)') = zx) 2° Then f(x'—x) = N ) 3 — _\L
Xy X+ (=) X
(A) -x° |
- 2
(B) -xlz
o
2
(D) 0

® 3
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4, lf% 5, what is the value of E?
X
1 1 S
(A) -3 (B) -3 ‘(C) 3 ) (D) 3 (E) 4

2T — 223 4
Y X
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33. An insurance company has found that the propor-
tion of claims that are resolved within days is

»
f

4
r+10
does it take to resolve 75 percent of the claims?

(A) 1 (B) 13 (C) 30 (D) 65 (E) 75

2
2 (XN 4
F (t+to) =
4
3

2
given by p(r) = ( ) . How many days
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50. A function f has the property that
: 1 +
f(-*-) f( for 0< x 1. 1f f(a) =0,

p .

-—

where 0 < a £ 1, what is the value of f(£)°

4
® 035 .‘:(q)\ A o
D052 )71 2 ~ @
(E) 0.98
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(E)

None of the above
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32.  Which of the following are the equations of lines that are

asymptotes of the graph of y = o i;; (24_ 3) = XL" .-
2]} x=-8 ‘
VIL. x=5 X'-'-“Q X‘—'S = -
ol Y K -
. y= 3
(A) Tonly | —
(B) IIonly = 5 —_—
C) Tland Il only 3 EY‘

((D)) 11 and Il only

E) L 11, and III
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: X +2 . g
19.If f(x) = T what value does f(x) approach
as x approaches 3.5 ?

(A) =1.00
(B) -0.43

(E)
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0\.3 b’i
Exercise 10 The solutions of the equation x? 4+ px + ¢ = 0 are the cubes
of the solutions of the equation x? + mx + n = 0. Which of the following

must be true? & v

(A) p=m®+3mn

3 _
®) ptg=m® (B) (g) =§

oth=-m ')o?+l?= ~P
%/ =41
l
0\5+bs~—(<x+b)< h—ab +bl>
>(oth) (" taabth - 30b)
= (oHeb) (@ﬁ’)’ll&b)

3mn (C) p=3mn— m>

|




